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BASIC LEVEL                                                                                            
Directions (1-5): Study the following information to 
answer the given questions. 

Eight persons P, Q, R, S, T, U, V and W are 
sitting around a circular table facing the centre but 
not necessarily in the same order.  

R is an immediate neighbour of T. Q sits 
second to the right of R. Only one person sits 
between Q and U. S sits third to the left of P. P is not 
an immediate neighbour of Q. Only three persons sit 
between S and V. 
1. Which amongst the following statements is true
regarding W, as per the given arrangement?
1. Only three persons sit between W and T.
2. R sits third to the left of W. 
3. W sits second to the right of U. 
4. V is one of the immediate neighbours of W.
5. None of the given statements is true
 

2. What is the position of T with respect to P?
1. Fourth to the left  2. Second to the right
3. Fourth to the right  4. Third to the right
5. Second to the left 
 

3. If all the person are made to sit in alphabetical 
order in clockwise direction, staring from P, the 
positions of how many, excluding P, woul
unchanged? 
1. None     2. Four  3. One     4. Two
 

4. Four of the following five are alike in a certain 
way based on their positions in the given 
arrangement and so form a group. Which is the one 
that does not belong to the group? 
1. QSR     2. VRW    3. SUT      4. TQV
 

5. Who amongst the following sits third to the right 
of V? 
1. T      2. Q          3. U     4. R 
 

Directions (6-10): Study the following information 
to answer the given questions. 

Eight persons - E, F, G, H, I, J, K and L 
sitting around a circular table facing the centre but 
not necessarily in the same order. 

Only three persons sit between K and L. Only 
two persons sit between L and H. Only three persons 
sit between H and G. J sits second to the right of H. I 
is one of the immediate neighbours of H. F is neither 
an immediate neighbour of K nor G. 
 

6. Which amongst the following statements is true
regarding F, as per the given arrangement?
1. None of the given statements is true
2. K is one of the immediate neighbours of F
3. F sits second to the left of H 
4. F sits third to the right of J 
5. Only three persons sit between F and E
 

1.1 2.4 3.3 4.5 5.2 
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Study the following information to 

Eight persons P, Q, R, S, T, U, V and W are 
sitting around a circular table facing the centre but 

R is an immediate neighbour of T. Q sits 
Only one person sits 

between Q and U. S sits third to the left of P. P is not 
Only three persons sit 

ch amongst the following statements is true 
regarding W, as per the given arrangement? 

three persons sit between W and T. 

V is one of the immediate neighbours of W. 
None of the given statements is true 

2. What is the position of T with respect to P? 
Second to the right 
Third to the right 

3. If all the person are made to sit in alphabetical 
order in clockwise direction, staring from P, the 
positions of how many, excluding P, would remain 

Two      5. Three 

4. Four of the following five are alike in a certain 
way based on their positions in the given 
arrangement and so form a group. Which is the one 

TQV    5. PVW 

5. Who amongst the following sits third to the right 

          5. P 

Study the following information 

, H, I, J, K and L - are 
sitting around a circular table facing the centre but 

Only three persons sit between K and L. Only 
two persons sit between L and H. Only three persons 
sit between H and G. J sits second to the right of H. I 
is one of the immediate neighbours of H. F is neither 

 

gst the following statements is true 
regarding F, as per the given arrangement? 

None of the given statements is true 
K is one of the immediate neighbours of F 

Only three persons sit between F and E 

7. If all the persons are made to sit in alphabetical 
order in clockwise direction, starting from E, the 
positions of how many, excluding E, would re
unchanged? 
1. Three          2. Four       3
 
8. Four of the following five are alike in a certain 
way based on their positions in the given 
arrangement and so form a group. Which is the one 
that does not belong to the group?
1. GJL         2. KIE           3
 
9. Who among the following sits to the immediate
left of L? 
1. H             2. G                
 
10. What is the position of H with respect to E?
1. Second to the left   
3. To the immediate right 
5. Third to the right 
 

Direction (11-15): Study the following information 
to answer the given questions.

Eight persons namely, J, K, L. M, N, 
and Q are sitting around a circular table facing the 
centre, but not necessarily in the s

Only three persons sit between N and O
sits to the immediate right of M. K sits second to the 
right of L. K is not an immediate neighbour of M. P 
is neither an immediate neighbour of K nor Q.
11. Four of the following live are alike in a cert
way based on their positions in the given 
arrangement and so form a group. Which is the one 
that does not belong to that group?
1. KPN      2. JQK        3. LKQ 
 
12. How many persons are seated between K and J, 
when counted from the right of K?
1. One        2. Four       
4. Two   5. More than four
 

13. Who amongst the following represent the 
immediate neighbours of K?
1. O, P       2. Q, O 3. J, Q
 

14. Who among the following sits third to the
L? 
1. J          2. Q            3. M            
 

15. Which among the following statements is true
regarding Q. as per the given arrangement?
1. None of the given options is true
2. K sits to the immediate left of Q
3. Q sits third to the left of N
4. Only two persons sit between Q and O
5. Only three persons sit between Q and J

6.3   7.5   8.1   9.2 10.4 11.3 12.4 
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7. If all the persons are made to sit in alphabetical 
order in clockwise direction, starting from E, the 

how many, excluding E, would remain 

3. One     4. None   5. Two 

wing five are alike in a certain 
way based on their positions in the given 
arrangement and so form a group. Which is the one 
that does not belong to the group? 

3. JHG     4. HFJ      5. ILK 

Who among the following sits to the immediate 

  3. I          4. F          5. J 

10. What is the position of H with respect to E? 
2. Second to the right 

 4. Third to the left  

Study the following information 
to answer the given questions. 

Eight persons namely, J, K, L. M, N, O, P 
and Q are sitting around a circular table facing the 

but not necessarily in the same order. 
hree persons sit between N and O. J 

sits to the immediate right of M. K sits second to the 
K is not an immediate neighbour of M. P 

is neither an immediate neighbour of K nor Q. 
11. Four of the following live are alike in a certain 
way based on their positions in the given 
arrangement and so form a group. Which is the one 
that does not belong to that group? 

LKQ     4. MLQ   5. NOM 

12. How many persons are seated between K and J, 
right of K? 

 3. Three      
More than four 

13. Who amongst the following represent the 
immediate neighbours of K? 

J, Q     4. O, N       5. Q, N 

14. Who among the following sits third to the left of 

            4. P          5. N 

15. Which among the following statements is true 
regarding Q. as per the given arrangement? 

None of the given options is true 
K sits to the immediate left of Q 

ird to the left of N 
two persons sit between Q and O 

Only three persons sit between Q and J 

13.2 14.1 15.5
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NEXT LEVEL  

Directions (1-5): Study the following information 

carefully and answer the questions given below:

Eight persons - I, J, K, L, M, N, 

sitting around a circular area at equal

distance between each other but not necessarily in 

the same order. Some people face the centre while 

some face the outside (i.e. in a direction opposite to 

the centre). 

J sits third to the right of M. M faces ou

Only one person sits between J and N.

persons sit between O and P. O is not an immediate 

neighbour of J. Both the immediate neighbours of L 

face the centre. L is not an immediate neighbour of 

O. Both the immediate neighbours of K face cen

Both the immediate neighbours of M face a

opposite to that of O (i.e. if O faces the centre then 

both the immediate neighbours of M face outside 

and vice-versa.) 

1. Which of the following statements is true 

regarding I as per the given arrangement?

1. P is one of the immediate neighbours of I.

2. I faces the centre. 3. I sits third to the left of L.

4. Only three persons sit between I and N.

5. None of the given options is true 
 

2. Who is sitting to immediate right of L?

1. K      2. M         3. I     4. P 
 

3. What is O’s position with respect to K?

1. Fifth to the right 2. Second to the right

3. Third to the right 4. To the immediate left

5. Fourth to the right 
 

4. Who amongst the following are immediate 

neighbours of N? 

1. P, M        2. L, M      3. O, P    4. I, O  
 

5. Four of the following five are alike in a certain 

way based on their positions in the given 

arrangement and so form a group. Which is the one 

that does not belong to the group? 

1. J         2. P            3. O        
 

Directions (6-10): Study the following information 

carefully and answer the questions given below

Eight friends A, B, C, D, E, F, 

sitting around a circular table but not necessarily in 

the same order. Some of them are facing the centre 

and some others are facing outside (i.e. in a direction 

opposite to the centre.) Note 
 
 

1.3 2.5 3.4 
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Study the following information 

carefully and answer the questions given below: 

I, J, K, L, M, N, O and P - are 

sitting around a circular area at equal people and 

distance between each other but not necessarily in 

the same order. Some people face the centre while 

some face the outside (i.e. in a direction opposite to 

J sits third to the right of M. M faces outside. 

Only one person sits between J and N. Only three 

is not an immediate 

Both the immediate neighbours of L 

face the centre. L is not an immediate neighbour of 

Both the immediate neighbours of K face centre. 

Both the immediate neighbours of M face a direction 

faces the centre then 

both the immediate neighbours of M face outside 

. Which of the following statements is true 

gement? 

P is one of the immediate neighbours of I. 

I sits third to the left of L. 

Only three persons sit between I and N. 

2. Who is sitting to immediate right of L? 

  5. J 

’s position with respect to K? 

Second to the right 

To the immediate left 

Who amongst the following are immediate 

I, O     5. I, K 

. Four of the following five are alike in a certain 

way based on their positions in the given 

arrangement and so form a group. Which is the one 

4. L       5. K 

Study the following information 

carefully and answer the questions given below 

Eight friends A, B, C, D, E, F, G and H are 

sitting around a circular table but not necessarily in 

the same order. Some of them are facing the centre 

and some others are facing outside (i.e. in a direction 

 

(i) Facing the same direction means if 

faces the centre then the other

and vice-versa. 

(ii) Facing the opposite directions means if one 

person faces the centre then the other faces outside 

and vice-versa. 

(iii) Immediate neighbours facing the same direction 

means if one person faces the centre then the other 

also faces the centre and vice

(iv) Immediate neighbours facing the opposite 

directions means if one person faces the centre then 

the other faces outside and vice

Only four persons are sitting 

D. A is sitting second to the left of D. H is sitting 

third to the right of A. A faces centre.

direction opposite to that of E. The immediate 

neighbours of B face opposite directions. C does not 

face outside. F is sitting to the imm

faces the same direction as that of D. Neither E nor 

G is an immediate neighbour of B.

neighbours of D face the same direction. B faces the 

direction opposite to that of H.

6. What is H’s position with respect to F?

1. Third to the left  2. Third to the right

3. Immediate left  4. Im

5. Second to the left 

 

7. Who among the following are immediate 

neighbours of G? 

1. H, D       2. C,A      3. E, A

 

8. Who among the following sit exactly 

and D when counted from the left of B?

1. C, H        2. C, F      3. F,

 

9. Which of the following statements is true 

regarding C as per the given arrangement?

1. D is an immediate neighbour of C

2. C sits just opposite to G.

3. Only three persons sit between C and A

4. C sits second to the left of F

5. None of the given options is true

 

10. Four of the following five are alike in a certain 

way based on the direction they are facing and so 

form a group. Which is the 

to that group? 

1. A, B          2. G, H    3. 

 

 4.1 5.2 6.2    7.5    8.1   9.3 
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   RSNL-102 

(i) Facing the same direction means if one person 

faces the centre then the other also faces the centre 

) Facing the opposite directions means if one 

person faces the centre then the other faces outside 

(iii) Immediate neighbours facing the same direction 

s if one person faces the centre then the other 

also faces the centre and vice-versa. 

Immediate neighbours facing the opposite 

one person faces the centre then 

the other faces outside and vice-versa.  

Only four persons are sitting between B and 

s sitting second to the left of D. H is sitting 

third to the right of A. A faces centre. G faces a 

direction opposite to that of E. The immediate 

neighbours of B face opposite directions. C does not 

s sitting to the immediate left of E. E 

faces the same direction as that of D. Neither E nor 

G is an immediate neighbour of B. Immediate 

neighbours of D face the same direction. B faces the 

direction opposite to that of H. 

. What is H’s position with respect to F? 

Third to the right 

Immediate right 

Who among the following are immediate 

E, A       4. C, F     5. A, D 

. Who among the following sit exactly between B 

and D when counted from the left of B? 

F, A       4. A, H     5. A, C 

. Which of the following statements is true 

regarding C as per the given arrangement? 

D is an immediate neighbour of C 

. 

Only three persons sit between C and A 

C sits second to the left of F 

None of the given options is true 

. Four of the following five are alike in a certain 

way based on the direction they are facing and so 

form a group. Which is the one that does not belong 

 C, D     4. D, F     5. B, E 

 10.4 
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Directions (1-10) Study the following information 

carefully and answer the questions given below:

Eight persons P, Q, R, S. T, U, V and W 

sitting around a circular table but not necessarily in 

the same order. Out of eight persons, three are facing 

outside and the remaining are facing towards the 

centre.  

T is an immediate neighbour of V. V faces 

outside, i.e., in a direction opposite the centre. Only 

two persons are sitting between T and Q. Both the 

immediate neighbours of Q are facing towards the 

centre. R is sitting third to the right of P. P is not an 

immediate neighbour of V and T. Both the 

immediate neighbours of U face outside. U is not an 

immediate neighbour of V. S faces opposite 

direction as that of R (i.e., If R faces towards the 

centre, S would face outside, meaning in a direction 

opposite the centre and vice-versa). 

1. Four of the following five are alike

way on the basis of given arrangement and hence 

they form a group. Which one of the following d

not belongs to that group? 

1. U   2. T              3. P    4. R         

 

2. Which of the following statements is true 

regarding R on the basis of given arrangement?

1. R is an immediate neighbour of both W and

2. R is sitting exactly between V and P. 

3. None of the given statements is true

4. Only three persons are sitting between R and

5. R is sitting third to the right of U. 

 

3. How many persons are sitting between P and T 

when counted from the left side of P?

1. Two  2. Three 3. One 

4. None 5. More than three 

 

4. If all the eight persons are made to sit in 

alphabetical order in clockwise direction, starting 

from P, the position of how many persons (excluding 

P) will remain unchanged as compared to the 

original positions? 

1. None     2. Two     3. One      4. Three

 

5. What is the position of V with respect to W?

1. Third to the left  2. Second to the left

3. Second to the right  4. Immediate left

5. Third to the right 

1.2 2.4 3.1 
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Study the following information 

carefully and answer the questions given below: 

R, S. T, U, V and W - are 

sitting around a circular table but not necessarily in 

the same order. Out of eight persons, three are facing 

outside and the remaining are facing towards the 

T is an immediate neighbour of V. V faces 

direction opposite the centre. Only 

sons are sitting between T and Q. Both the 

immediate neighbours of Q are facing towards the 

centre. R is sitting third to the right of P. P is not an 

immediate neighbour of V and T. Both the 

of U face outside. U is not an 

immediate neighbour of V. S faces opposite 

direction as that of R (i.e., If R faces towards the 

centre, S would face outside, meaning in a direction 

. Four of the following five are alike in a certain 

way on the basis of given arrangement and hence 

they form a group. Which one of the following does 

4. R         5. Q 

. Which of the following statements is true 

basis of given arrangement? 

R is an immediate neighbour of both W and Q. 

R is sitting exactly between V and P.  

None of the given statements is true 

Only three persons are sitting between R and S 

many persons are sitting between P and T 

when counted from the left side of P? 

  

. If all the eight persons are made to sit in 

alphabetical order in clockwise direction, starting 

how many persons (excluding 

P) will remain unchanged as compared to the 

4. Three   5. Four 

What is the position of V with respect to W? 

Second to the left 

Immediate left 

 

Directions (6-10): Study the information carefully 

and answer the questions. 

P, Q, R, S, T, U, V and W are sitting around 

a circular area of equal distance between each other 

but not necessarily in the same o

face the centre while some face outside

direction opposite to the centre.)

Q sits second to the right of T. T faces 

outside. Only two people sit between Q and W.

the immediate neighbours of Q 

the immediate neighbours of R face outside. R is 

neither an immediate neighbour of

two people sit between R and V. S sits second to the 

left of P. (i.e. if one neighbour faces the centre then 

the other faces outside and vice

Immediate neighbours of W face same directions. 

(i.e. if one neighbour faces the centre then the other 

also faces centre and vice-versa,)

T sits to immediate left of one of his neighbours.

W faces the same direction as R (i.e. if R faces the 

centre, then W also faces centre and vice

6. What is R’s position with respect

1. Second to the left 2. Second to the right

3. Fourth to the right 4. Fifth to the right

5. Third to the right 

 

7. Which of the following is true regarding U as per 

the given arrangement I 

1. None of the given options is true

2. Only three people sit between U and Q.

3. U faces the centre. 

4. S is one of the immediate neighbours of U.

5. U sits third to the left of T.

 

8. Who amongst the following sit exactly between R 

and V when counted from the right of R?

1. P, U        2.U, W       3.P,

 

9. Four of the following five are alike in a certain 

way based on the given seating arrangement and so 

form a group. Which is the one that does not belong 

to that group? 

1. U       2. P    3. W

 

10. Who amongst the following are immediate 

neighbours of T? 

1. S, V       2. U, V     3.

 
 

 4.3 5.5   6.1 7.2 8.2 9.1 
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Study the information carefully 

 

, T, U, V and W are sitting around 

a circular area of equal distance between each other 

but not necessarily in the same order. Some people 

face the centre while some face outside (i.e. in a 

direction opposite to the centre.)  

Q sits second to the right of T. T faces 

outside. Only two people sit between Q and W. Both 

the immediate neighbours of Q face the centre. Both 

ediate neighbours of R face outside. R is 

neither an immediate neighbour of Q nor V. Only 

two people sit between R and V. S sits second to the 

left of P. (i.e. if one neighbour faces the centre then 

the other faces outside and vice-versa.) 

ours of W face same directions. 

(i.e. if one neighbour faces the centre then the other 

versa,) 

T sits to immediate left of one of his neighbours. 

W faces the same direction as R (i.e. if R faces the 

centre and vice-versa.) 

. What is R’s position with respect to W? 

Second to the right 

Fifth to the right 

. Which of the following is true regarding U as per 

None of the given options is true 

Only three people sit between U and Q. 

S is one of the immediate neighbours of U. 

U sits third to the left of T. 

8. Who amongst the following sit exactly between R 

om the right of R? 

P, Q       4.Q, T        5.S, T 

. Four of the following five are alike in a certain 

way based on the given seating arrangement and so 

form a group. Which is the one that does not belong 

3. W  4. Q     5. S 

. Who amongst the following are immediate 

. R, S       4. P, R    5. V, W 

 10.4 
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Directions (1-5) Study the following information 
carefully and answer the questions given below:

Eight persons - A, B, C, D, W, X, Y and Z 
are sitting around a circular table facing the centre at 
equal distance between each other but not 
necessarily in the same order. Each one of them 
wears watches of different companies viz., Timex, 
Seiko, Rado, Omega, Fasttrack, Tissot, Fossil and 
Rolex but not necessarily in the same order.

Only two persons are sitting between W and 
the person who wears Fossil Watch. D is sitting to 
the immediate right of the person who wears Fossil 
watch. Only three persons are sitting between D and 
the person who wears Rado watch. Z i
second to the right of the person wearing Rado 
watch. The person who wears Fasttrack watch is an 
immediate neighbour of Z. A is sitting second to the 
left of the person who wears Fasttrack watch. C is 
sitting to the immediate right of X. Only three 
persons are sitting between C and the person who 
wears Timex watch. Only one person is sitting 
between the persons wearing Timex and Tissot 
watches. B is sitting third to the left of the person 
who wears Omega watch, Only one person is sitting 
between Y and the person who wears Rolex watch.
1. Which of the following combinations of the 
person watch is definitely true? 
1. C - Omega   2. B - Timex 
4. W – Fasttrack 5. Z - Tissot 
 

2. What is the position of B with respect to the one
who is sitting to the Immediate left of W?
1. Third to the right    2. Third to the left
3. Second to the right   4. Fourth to the left
5. Second to the left 
 

3. Four of the following five are alike in a certain 
way as per the given arrangement and hence form a 
group. Which is the one that does not belong to that 
group? 
1. Z-Fossil   2. D-Rolex 
4. B-Tissot  5. X-Omega 
 

4. Which of the following statements is true 
regarding D as per the given arrangement?
1. D is sitting exactly between B and the person who 
wears Seiko watch. 
2. Only two persons are sitting between D and the 
person who wears Rado watch. 
3. D is sitting second to the left of Z. 
4. D is an immediate neighbour of the person who 
wears Omega watch.  5. None of the
 

5. Who among the following is/are sitting between A 
and Z when counted to the right hand side of
1. Only W 3. Y and B 5. W and
2. W and Z  4. Only Y 
 

1.1 2.4 3.2 
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Study the following information 

carefully and answer the questions given below: 
A, B, C, D, W, X, Y and Z - 

are sitting around a circular table facing the centre at 
equal distance between each other but not 

ach one of them 
wears watches of different companies viz., Timex, 
Seiko, Rado, Omega, Fasttrack, Tissot, Fossil and 
Rolex but not necessarily in the same order.  

Only two persons are sitting between W and 
the person who wears Fossil Watch. D is sitting to 
the immediate right of the person who wears Fossil 
watch. Only three persons are sitting between D and 

person who wears Rado watch. Z is sitting 
second to the right of the person wearing Rado 
watch. The person who wears Fasttrack watch is an 

neighbour of Z. A is sitting second to the 
left of the person who wears Fasttrack watch. C is 
sitting to the immediate right of X. Only three 
persons are sitting between C and the person who 
wears Timex watch. Only one person is sitting 

wearing Timex and Tissot 
watches. B is sitting third to the left of the person 
who wears Omega watch, Only one person is sitting 
between Y and the person who wears Rolex watch. 
1. Which of the following combinations of the 

 3. D - Rolex  

. What is the position of B with respect to the one 
who is sitting to the Immediate left of W? 

Third to the left 
Fourth to the left 

. Four of the following five are alike in a certain 
way as per the given arrangement and hence form a 
group. Which is the one that does not belong to that 

3. A-Rado  

ch of the following statements is true 
regarding D as per the given arrangement? 

s sitting exactly between B and the person who 

Only two persons are sitting between D and the 

 
D is an immediate neighbour of the person who 

None of these  

. Who among the following is/are sitting between A 
and Z when counted to the right hand side of A? 

W and Y 

Directions (6-10) Study the following information 
carefully and answer the questions given below:

Eight persons- P, Q, R, S. T, U, V and W 
are sitting around a circular table facing the centre 
but not necessarily in the same orde
them works in a different company viz. Microsoft, 
Sony, Dell, P&G, HTC, ONGC, 
Amazon but not necessarily In the same order.

The one who works in Microsoft sits third to 
the right of V. Only one person sits between the one 
who works in Microsoft and U.

Only three persons sit between T and U. R 
sits second to the left of U. Both R and T are 
immediate neighbours of the one who works in P & 
G. Only three persons sit between the one who 
works in P & G and S. S 
neighbours of the one who works in Dell. The one 
who works in ONGC sits second to the left of the 
one who works in Dell.  

W sits third to the left of the one who works 
in ONGC. P is one of the immediate neighbours of 
W. The one who works in Google sits to the 
immediate left of the one who works 
three persons sit between the one who works I
Google and the one who works i
6. V is related to Google in a certain way based on 
the given arrangement. Followi
Q is related to Amazon. To which of the following 
companies is R related to following the same 
pattern? 
1. Microsoft   2. HTC
4. Dell   5. P & G
 
7. Q works In which of the following companies?
1. HTC    2.P&G     3. Google 
 
8. What is the position of P with respect to Q?
1. Second to the left 2. Fourth to the left
3. Third to the left 4. Second to the right
5. Third to the right 
 
9. Which of the following statements is true with 
respect to the given arrangement?
1. T sits second to right of U.
2. Q is an immediate neighbour of the one who 
works in Google. 
3. P and the one who works in Dell are immediate 
neighbours of each other. 
5. R sits second to the right of the one who works in 
HTC. 
 
10. Who amongst the following works in Amazon?
1. R  2. Other than those given as options
3. T  4. S  
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LEVEL                                                                                            RSHL-104
Study the following information 

carefully and answer the questions given below: 
Q, R, S. T, U, V and W - 

are sitting around a circular table facing the centre 
but not necessarily in the same order. Each one of 
them works in a different company viz. Microsoft, 
Sony, Dell, P&G, HTC, ONGC, Google and 
Amazon but not necessarily In the same order. 

The one who works in Microsoft sits third to 
the right of V. Only one person sits between the one 

s in Microsoft and U. 
Only three persons sit between T and U. R 

sits second to the left of U. Both R and T are 
immediate neighbours of the one who works in P & 
G. Only three persons sit between the one who 

n P & G and S. S is one of the immediate 
ighbours of the one who works in Dell. The one 

who works in ONGC sits second to the left of the 

W sits third to the left of the one who works 
n ONGC. P is one of the immediate neighbours of 

The one who works in Google sits to the 
immediate left of the one who works in HTC. Only 
three persons sit between the one who works In 
Google and the one who works in Sony. 

. V is related to Google in a certain way based on 
the given arrangement. Following the same pattern, 
Q is related to Amazon. To which of the following 
companies is R related to following the same 

HTC 3. ONGC  
P & G 

. Q works In which of the following companies? 
Google     4. Sony     5. Dell 

. What is the position of P with respect to Q? 
Fourth to the left  
Second to the right 

. Which of the following statements is true with 
arrangement? 

T sits second to right of U. 
Q is an immediate neighbour of the one who 

and the one who works in Dell are immediate 
 4. S works in ONGC 

R sits second to the right of the one who works in 

. Who amongst the following works in Amazon? 
Other than those given as options 

5. P 
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